
CG410−2A_1

Wellenlänge λ /nm
400 500 600 700

P60

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
m−02,1(λ)=B21x

−
02,1(λ)+B22y

−
02,1(λ)+B23z

−
02,1(λ)

B2j −0,2298 1,1834 0,0464λ=540
P60:Σm−02,1(λ)=21,24

x02,1=0,3217
y02,1=0,3314



CG410−2A_1

Wellenlänge λ /nm
400 500 600 700

P55

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
m−02,1(λ)=B21x

−
02,1(λ)+B22y

−
02,1(λ)+B23z

−
02,1(λ)

B2j −0,2298 1,1834 0,0464λ=540
P55:Σm−02,1(λ)=21,15

x02,1=0,3320
y02,1=0,3407



CG410−2A_1

Wellenlänge λ /nm
400 500 600 700

P50

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
m−02,1(λ)=B21x

−
02,1(λ)+B22y

−
02,1(λ)+B23z

−
02,1(λ)

B2j −0,2298 1,1834 0,0464λ=540
P50:Σm−02,1(λ)=21,05

x02,1=0,3446
y02,1=0,3512



CG410−2A_1

Wellenlänge λ /nm
400 500 600 700

P45

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
m−02,1(λ)=B21x

−
02,1(λ)+B22y

−
02,1(λ)+B23z

−
02,1(λ)

B2j −0,2298 1,1834 0,0464λ=540
P45:Σm−02,1(λ)=20,97

x02,1=0,3603
y02,1=0,3632



CG410−2A_1

Wellenlänge λ /nm
400 500 600 700

P40

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
m−02,1(λ)=B21x

−
02,1(λ)+B22y

−
02,1(λ)+B23z

−
02,1(λ)

B2j −0,2298 1,1834 0,0464λ=540
P40:Σm−02,1(λ)=20,92

x02,1=0,3799
y02,1=0,3764



CG410−2A_1

Wellenlänge λ /nm
400 500 600 700

P35

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
m−02,1(λ)=B21x

−
02,1(λ)+B22y

−
02,1(λ)+B23z

−
02,1(λ)

B2j −0,2298 1,1834 0,0464λ=540
P35:Σm−02,1(λ)=20,94

x02,1=0,4047
y02,1=0,3904



CG410−2A_1

Wellenlänge λ /nm
400 500 600 700

P30

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
m−02,1(λ)=B21x

−
02,1(λ)+B22y

−
02,1(λ)+B23z

−
02,1(λ)

B2j −0,2298 1,1834 0,0464λ=540
P30:Σm−02,1(λ)=21,10

x02,1=0,4362
y02,1=0,4038



CG410−2A_1

Wellenlänge λ /nm
400 500 600 700

P25

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
m−02,1(λ)=B21x

−
02,1(λ)+B22y

−
02,1(λ)+B23z

−
02,1(λ)

B2j −0,2298 1,1834 0,0464λ=540
P25:Σm−02,1(λ)=21,58

x02,1=0,4763
y02,1=0,4135


